0
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Time : 2 Hours

Hall Ticket | l
Number : !

Signature of
the Candidate G

ITutal Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.
s (o asrwen [Fraindd ok OMR amra HSED0S® adedD drSden erdm $EH0d.

SECTION — 1 : MATHEMATICS (A3 @°9dw)

1 ab(c)=a(bc) is called property.
(1) Associative (2) Inverse (3) Identity (4) None
ab(c)=a (bq) WO DoHEP) Ardod.

(1) S8 380 (2) dH rgao (3) S8 yD (4) & s
2 ﬁ+ﬁ 1S number.
(1) Natural (2) Rational (3) Integer (4) an Irrational
V5 + /7 e Sowg
(1) dees (2) 88 (3) 8 (4) soedax

3 {mgg JN?,JE] log, 0.01 =
7 9 1 ]
™ [SJI . \16) v (16] . (8]
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4  Exponential form of log, 64 =3 is

logy 64 =3 8 fré srdo

(1) 34 — 64 2 42=81 O 4 =64 (4) None

3 J20+‘J20+\/20+ ....... oo =
(1) 1 (2) 3 3) 5 4) 6

6 From the following Venn-diagram B—- 4= .
DI DY$S B4 =

A B

1y {1,2,3} 2) {4.5} 3) {6,7} (4) None (98 sech)

7 If A= {a,b,c,d}, then the number of subsets for A is

"

A={a,b,c,d} ®od 4 8 ) & Shdevaeyon?
(1) 5 (2) 6 (3) 16 (4) 65

8 If o, B,y are the zeroes of the polynomial f(x)=ax3 +bx® +cx+d, then

LR
o By T
o, B, Y 003D ax® +bx’ +cx+d o einons AT B, i+%+$= S
(1) - ) - @) — 4) -
d c d d
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10

11

12

13

A quadratic polynomial whose zeroes are 5 and -2 is

5, =2 drargen o ng 2000

M) x2+5x-2 @) X +3x=10 ) x> =3x—10 @) x*> -2x+5

The lines represented by Sx+7y—14=0 and 10x+3y—-8=0 are lines.
(1) Coincident (2) Vertical (3) Parallel (4) Intersecting
S5x+7y—-14=0 ©8aw 10x+3y—8=0 Bper —_ Speod rdohHd.
(1) 8% (2) dePH (3) “hross (4) podsd
X .y X y
—+==35 ——==6 LV i
If Z*3 and 579 . then X,y is
x Y x Yy
—+==35 ——==6 ; _
773 oA 579 OOV X, )V dendew
(1) (9, 14) (2) (14, 9) 3) (7. 9) (4) (14, 18)

2

The graph of y+ x“ =0 lies in the quadrants

y+ x2 =0 B ™Y 2 Fored® dotnod?

) 9,0 2 Q. O 3) O3, Oy 4) O4. O

Solution of the equations -..Ex+\/§y={] and ﬁx—ﬁy=(} 1S

V2x+3y=0 200 /3 x—/8 y=0 ssere dess

(1 x=1,y=0 @ x=0,y=1 @) x=1, y=1 4 x=0, y=0
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20

21

22

23

24

Find the 10 term in A.P. 5, 1, =3, —7......

5,1, =3, —7...... @08 @&S® 10 H HS5d0 Joe?
1) =3 (2) 31 (3) 41 4) 71

If a.b,c are in AP, then p — g =

a.b.c e AP &ﬁélﬁi h—a=

a+c
v

(1) 2 c—b 3) b* -1 4) a-b

a
If a,b,c are in GP, then — =

b
a
a,b.c e GP. & a5 &F E=
b b c &
fxy (2] - (3) T 4) —
a c b a

Sum of natural numbers from 1 to 100

1 o8 100 H65H deo e Jopge Ivdo
(1) 4050 (2) 10100 (3) 5500 (4) 5050

The co-ordinates of point which intersects the line joining the points (2, 3) and (4, 5) in
the ratio 1:2 internally

(2, 3) & (4, 5) Dohpod Seng) Bpd 1:2 JKN8S® woddorr eBow Doty NrdEHven

g8 11 8§ 11 8 11
(1) ~3' 3 (2) Ea? (3) gs_‘a‘ (4) None (& s¢&)

SPACE FOR ROUGH WORK / & 508 Séranosnds gom
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31

32

33

34

35

36

Which of the following are not sides of a Right angled triangle ?
& (8od T8S° vow B (Bghe gharen 50D
(1) 9. 15, 12 ) 9.5, 7 3) 4, 5, 3 @) 2. 5.1

Height of an equilateral triangle whose side is x units is

S e (Beheso BwEy) ghHeso X UNIS GOND TP & units.

233
(1) E—j—-g- (2) xf (3) 3

(4) None (28 =)

In AABC, D, E, F are mid pointé of the sides AB, BC, CA respectively. Then Area of
ADEF : Area of AABC =

AABC & D, E, F e» $6&w AB, BC, CA o ©¢g Bothvpdd ADEF 3wego :
A ABC 3wrego =
() 1:4 (2) 3:4 3) 4:4 4 1:1

Number of chords of a circle is
&8 H)eed8 Aodd amg © Domg
(1) 20 (2) 18 (3) 2018 (4) Infinite (®Hodo)

Angle in a semi-circle is
od J)éo &*d w0
L 4] il
(1) 270° (2) 360° (3) 90° (4) 180°

How many Tangents can be drawn to a circle from a point outside the circle ?
2 arirg Dot Hod H)erd8 A 19)8) Bwe dowg
(1) 1 (2) 2 3) 3 (4) Infinite (wdoso)

SPACE FOR ROUGH WORK / & 08 Béronousadsd oo
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38

39

40

41

42

43

The angle between a Tangent to a circle and the radius drawn at the point of contact is
90y Dotk S 8 Hydo B)6) Tw8 od argIrdo Vot S'wo
(1) 30° (2) 45° (3) 60° (4) 90°

Sum of all the angles at the centre of the circle
H)8 Soo K A8 o) Sare Bdo
(1) 180° (2) 360° (3) 90° (4) 100°

If »r =7 em and x° =30°, then area of sector =

r=7cm ®am x =30 evond e 250 Bwego =
(1) 12 cm? (2) 12.22 cm? (3) 12.44 cm? (4) 12.83 cm?

Number of vertices of a cuboid is
&g o By ﬁg‘ﬂ Howg
(1) 4 (2) 6 (3) 8 4) 9

If the ratio of radii of two spheres is 2:3, then the ratio of their surface areas is
Both Here grore ANB 2: 3 vawd e (B8 do Brorgo A
(1) 3:2 () 4:9 (3) 9:4 (4) 8:27

Ratio of volumes of a Cone, a Cylinder and a Hemi-sphere of same base radius and equal
heights 1is

o8 ¢fr Tgrgo WO Jhen o FogP, Prdo Dok ©f Fere Pd VI AN
(1) 1:2:3 2y 3:2:1 (3) 1:3:2 @) 3:142

The area of equilateral triangle is 36\6 cm?, then the perimeter is cm.

B erd (Babes Ferego 363 cm? wows @ DI T J—
(1) 16 (2) 32 (3) 36 4) 72

SPACE FOR ROUGH WORK / D& 08 Seranosedsd oo
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44

45

46

47

48

49

If 3tan A4 =4 then sin 4 =

3tan A = 4 @ownd sin 4 =

1 ? . :
M 3 @ 3
2tan30°
1 — tan> 30°
1
m = @

tan48° -tan42" =

(1) 0 2) 1

(1-cos8) (1+cosB) =

(1) sin®®

(2) cos> 6

G) <

G) 3

(3) 2

(3) tan’0

If tanB—cotB =1 then tan29+cut29 —

tanB —cotB =1 eand tan28+cﬂt29 —

(1) 1 (2) 2

If x=acosB, y=bsecHh =

x=acosB, y=>bsech = eoond

(1) xp= a’h?

(2) xzyz = ab

(3) -1

4 =

4) 3

4 3

4) cot® 0

(4) 3

(4) None (28 s=¢h)

SPACE FOR ROUGH WORK / d& 598 Séroavoseds RS
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55

If a die is rolled once, what is the probability of getting a prime number ?

o PASEHD 28 IO SPoOVHPH (HEH Jopg BT HogrHgd Jod?

1

1 - =
(1) 2 (2) (3) 2 (4) >
§6 The mean of 6, 5. 4, x, 2 is 4. What is the value of x ?
6, 5, 4, x, 2 © Htn 4 ®and x Dewd
(1) 3 (2) 4 (3) 5 4) 6
§7 What is the median of 16, 12, 4, 5, 6 2
16, 12, 4, 5, 6 © Degridn
(1) § (2) 16 (3) 6 4) 12
58 Find mode of 7, 2, 3, 4. 3, 3, 4.
7. 2, 3, 4, 3, 3, 4 © aoesdn
(1) 2 (2) 4 (3) 7 (4) 3
§9 The mid values of the class is used to calculate
(1) Arithmetic mean (2) Median (3) Mode (4) None
B568 DEg dewden (Bod TES* B & DA GIBrAZH?
(1) e (2) g Ko (3) exFoesan (4) 98 =
60 If Median = 60, Mean = 61, then Mode =
DrER = 60 e = 6] ooawd iugEo =
(1) 58 (2) 38 (3) 48 (4) 68
SPACE FOR ROUGH WORK / 94 08 Séranosedd poiw
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61

62

63

64

65

SECTION - II : PHYSICS (°88 #9%w)

If 'R" is radius of curvature of mirror and /" is focal length, which of the following relation
is correct ?

R' &30 680 Bogy, Yo rgrdo Hdam f' &RB Trargodsin wand & (808 ES® 10 eand
o205

1) R=f (2) 2R=f (3) R+2f=0 (4 R-2f=0

Parallel rays incident on a concave mirror, on reflection meet at what point ?

(1) At pole (2) At focal point

(3) At centre of curvature (4) Any where

PErseE GBS IR0D VST Hhrods 5708 Bderren JorHshn Bodd SHard D8y & Sendow?
(1) &ydo o¢ (2) =P 58

(3) Hgo Soo ¥ (4) Mz

Type of mirror used by dentists is
(1) Plane mirror (2) Convex mirror (3) Concave mirror (4) None

dod Dedogen AODrACTO He090ES S8y
(1) Shée dymdn  (2) Hogrsed S6ymiw (3) Perses S8y (4) D s°d -

A spherical mirror whose reflecting surface curved outwards is
(1) Convex mirror (2) Concave mirror (3) Plane mirror (4) All the above

2 Fersrd S6)R0E" JoHsd sy HER0 BN Gotnod.
(1). ®oersed d)emin (2) Pérses Sjmin (3) Shde ddymamn  (4) )

In case of Bi-concave lens line joining centre of curvatures is of what shape ?

(1) Straight line (2) Curved outside

(3) Curved inside (4) None

a8 BY PErsE Sbo By HFe Sored OB Op ) Erdos® dosnod?
(1) H5¢ B (2) H¥doRn erdrgorr
(3) YEsomw & Fpre 4) b s

SPACE FOR ROUGH WORK / 9& 98 $eranoseds goi
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66 In case of lenses. light rays travelling through principal axis
(1) Travel in same line without deviation
(2) Always converge at one point
(3) Always diverge at one point
(4) Converge (or) diverge depending upon type of lens
E&%5006° (Herargrd8 Shrosdiumr (Haxredol srod Bdmren
(1) dSevo BosHoar @B Hrdod® (Hatradrow.
(2) dedpdr a8 Doy 4 Soldsdoieberaw.
(3) Jepdr a8 Doty B JSo|dsboessrow.
(4) Sosdn Gn1E) 857 2 So|dssnin Bor JSo|dsdowdberaw.

67 Which one of the following material can be used to make lens 7
(1) Iron (2) Plastic (3) Glass (4) Clay

& (800 D Horgrd) SLESY Sarrds ABSrAYE?

(1) = (2) Y8 (3) rres (4) 208d)

68 Which of the following is true in case of concave lens ?

(1) Erect and virtual image (2) Inverted and real image

(3) Erect and real image (4) Inverted and virtual image
Yersed 0578 Hoodod) S (Bod eIS° BB wandHd

(1) Adeny DHBo dgrg (DS (2) o |8othe b e SN
(3) A Jewy B ez (DD (4) doSodhe wda dgrg (HBDoM

9  Which of the following indicates lens formula ?

& |Bod Te3S° DB S8 IrEed) BB

1 1 " 1 1
o o §] =rn @ f =)

SPACE FOR ROUGH WORK / 2& 08 Séronosadd Hedn
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70

Focal plane of a lens is a plane

(1) Parallel to principal axis at the focus only

(2) Perpendicular to principal axis at the focus

(3) Parallel to principal axis at centre of curvature

(4) Perpendicular to principal axis at centre of curvature

g8 han doo &I

(1) Perargrd8 Sroddorr o H¢ dr@d Ko doo
(2) Sorarzra8 oo o8 5 Ko deo

(3) PeIA8 Bhroddorr H¥e® Boldo B Ko seo
(4) Rorogd8 eoworr HEee Sowo ¢ Ko deo.

71  Least distance of distinct vision for normal eye is
(1) 15 cm (2) 25 cm (3) 30 cm (4) 35 em
68 g H0HD NV SN EAR ErGaw
(1) 15 0.2, (2) 25 20.9. (3) 30 20.. (4) 35 0.2
72 Which lens is used to correct Myopia ?
(1) Convex (2) Concave (3) Cylindrical (4) None
(PR ()0 H0 Boe®H AHIArAc SeESL
(1) Sowrses (2) Herss () waws (4) 98 s
73 Splitting of light into seven colours is called
(1) Refraction (2) Reflection (3) Dispersion (4) Scattering
$08 Jdh Sorhenrr BIHa) Votrh?
(1) HBzssdw (2) SHorddhw (3) sr08 JWHeso (4) =08 HOEdewo
74 A prism with an angle of 4 = 60° produces a minimum deviation of 30°. The refractive
index of the material of the prism is
28 B8 Bws) Swin 4 =607 Dok ) Med Sodn 30° vand v LY Jo°g HBesSD
D8y Jod?
M 2 @ 2 3 B 4 242
SPACE FOR ROUGH WORK / Dé 308 Séranouedd REE
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75 Raman effect is related to which phenomenon of light ?

(1) Refraction (2) Reflection (3) Dispersion (4) Scattering
ord HOSHN 5708 BwEy, & SyNaras Ho20H0WHG
(1) Hlarsssn (2) DordEHH (3) JFdeso (4) HOE:Ded
76 Rainbow is formed due to of light.
(1) Refraction (2) Dispersion
(3) Total internal reflection (4) All the above
RO DY DEYHOH SEdn P08 ey
(1) HBegssam (2) DHesdn
(3) %ogrg woss HordsHo (4) 2D o
77 S.1. unit of Electric current
(1) Volt (2) ampere (3) watt (4) ohm
g a8 S.I. orwo
(1) &¢ (2) wo>anb (3) =& (4) &>
78 Find the effective resistance of the combination between 4 and B.
A, B Dothhe g HDE B Jod?
20 8 Q
A K B
60 14
20 3
1 —Q 2) 20Q (3) 10Q 4) — Q
3 20
SPACE FOR ROUGH WORK / 9é& 8 Séravosedd Do
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79  Drift speed of electrons in an electric conductor is

80

81

82

(1) 7 mm/s (2) 70 mm/s (3) 0.07 mm/s (4) None
D8 IEINS® Jogred (BT 58 (WS 38) Joi?

(1) 7 2.5/ . 2) 70 /> (3) 007 /D (4) I8 s

The resistance of conductor depends on

(1) length of conductor (2) area of cross section of conductor

(3) nature of the substance of conductor (4) All the above
a8 L A W B BEdih®?
(1) oS0 PEH (2) oS0 bﬁgiﬁgﬁ Ferogin

(3) &8 g Hgarsn (4) 25

Ohm's law is valid for
(1) Gaseous conductors (2) Metal conductors

(3) Semiconductors (4) Insulators

LD JavEr) & (Bod TeS* D eson?
(1) oy srdesren (2) &% arausren

(3) o8 T (4) hgh wogsten

Which of the following is used to prevent damages due to overloading to the household
circuit ?

(1) Switch (2) Fuse (3) Resistance (4) Semiconductor

w0gS" LBS°E Bed DR [Hhrord) J;BoSards S (8o ;eS® B Tders?

(1) s (2) PrgE (3) dcssw (4) ug’ v LY

SPACE FOR ROUGH WORK / 9& 398 Séranoseds DO
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83

85

86

Induction stove works on the principle of

(1) Electro magnetic induction (2) Generator
(3) Fuse (4) Switch
B0GES ¥ @) VoD M BFwod?

(1) gd eodr) ol (2 (2) 5888

3) Trge (4) g5

The number of field lines passing through the plane of area '4' perpendicular to the magnetic
field is called

(1) Magnetic induction (2) Magnetic flux
(3) Magnetic flux density (4) Solenoid

©ab>) 08 §|8°d8 eoworr 'A' Brogo o doo Hoar TP we Bpe HoPgd ©od
(1) ®anry o8 (e (2) ®avdyo8 wdrsro

(3) ©aH) o8 wdard Jo|ts (4) FFOrand

Electric power generated in a circuit placed in uniform magnetic field in electro magnetism
1S

DeisgB LabFg 08D Bowopod B wany ol HEE'D svanos® Mg s

I At Ad

AD
.( A (2) 3) @)

I At At

The induced current will appear in such a direction that it opposes the changes in the flux
in the coil is

(1) Ampere law (2) Lenz's law (3) Ohm's law (4) Faraday's law
8 DS whrir Srt)h $88808 B3S° (m g8 o dodwod. @b

(1) 020086 oo (2) Bof JovHo (3) &5 JovHo (4) 68 davHo

SPACE FOR ROUGH WORK / 9 $28 Séranouseadd gemn
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88

89

90

S.I. unit of magnetic flux is

(1) Tesla (2) Weber (3) Weber / meter (4) newton

®aO) 08 ©dFIS S.I. (Hdrwo

(1) &> (2) b (3) 6 / &k (4) drgeS

Which of the following converts mechanical energy into electrical energy ?

(1) Motor (2) Battery (3) Generator (4) Switch
arol88 80 defogh #8rr HrBB

(1) &b (2) ergesd (3) 256086 (4) S

The value of magnetic flux density which is uniform is 2 7, what is the flux passing through
a surface of area 0.5 m? perpendicular to it ?

(1) 1 Weber (2) 10 Weber (3) 1.25 Weber (4) 0.25 Weber

D ©avdy o8 B0 wanr) ol edorir Foidd Jend 2 T, §&rd8 voworr &) 0.5 m?
g0 thoae [Harrelod edordro Jod?

(1) 1 Weber (2) 10 Weber (3) 1.25 Weber (4) 0.25 Weber

A 10 N force acts on a rectangular conductor of 5 cm long placed perpendicular to a magnetic
tield. If the current in conductor is 50 A4, then B

(1) 0.4 tesla (2) 2.5 tesla (3) 25 tesla (4) 4 tesla

©03 08 Flerd8 wowor 40D 5 T0.D. PdY Ko Y SR gl irsoD 10 drgs weo
) Bod. wirgod® 50 wodang Abgh Bardro dH)dPE B dewd

(1) 0.4 tesla (2) 2.5 tesla (3) 25 tesla (4) 4 tesla

SPACE FOR ROUGH WORK / 9 398 $eranosesds e
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92

93

9%

SECTION - III : CHEMISTRY (8ara%Hd E*@a‘m)

What is the ratio of no. of moles of H, to H,O in the balanced equation of this reaction ?
Hz +02 s HzD :

Hy +O; — HyO & 800038 $8g deg bEswos® Hy oot H,O ey s dowg A8

(1) I} (2) 2:1 (5 1:2 “4) 2:3

The precipitate formed when silver nitrate solution reacts with sodium chloride solution
1S

Reg6 BB (oo FBano FBB (w08 S8 sV Y Vi
(1) NaOH . (2) AgCl (3) Ag(OH), (4) None (28 s)

The atomic mass of Sodium is

FFdavo AwE) HWirwmw (S o3

(1) 16u (2) 23u (3) 46u (4) 63.5u

Gas/es evolved when sodium Carbonate reacts with hydrochloric acid.
(1) Hydrogen (2) Chlorine (3) Carbon dioxide (4) All the above

TE §'08 wiyo, Fdano o8 )5S S0y 20YE DewdB AP / e
(1) =8 (2) &S () =583 uB)E (4) ad o

When a metal oxide reacts with an acid, the products formed are
(1) Salt + Water (2) Salt (3) Base + Water (4) Only Water

e &' uB)B B wYos’® Sy LOBSHD, BB as T e
(1) odwo + X (2) edmo (3) s + & (4) D Hr|Sd

SPACE FOR ROUGH WORK / 2& 338 Seranosadd doiw
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102 The number of d-block elements in the fourth period of the modern periodic table are

G WS HIES® Tred HBavh &' d-gr§ Lrosre Sopg —

(1) 6 2) 8 (3) 10 4) 18

103 Which of the following is correct while going down the group in the periodic table 7

(1) Atomic number increases (2) Number of shells increases

(3) Atomic radius increases (4) All the above

w5sd 8 6° (rPS® D od BossH Feb Feod

(1) Srendh Sopg HHEB. (2) s8yoro Domg DHEOB.

(3) Sdreoyy a-ga'gﬂ 2hrHEod. | (4) o0
104 Which of the following elements is bigger in size compared to others ?

Bod =&38° Q) Lwrefihn e TEETr) Iy D Hiredn Kobd?

() K (2) Be (3) B (4) N
105 The condition for the formation of ionic bond between two atoms

(1) Elf:ctmnegatiﬁty difference is greater than 1.9

(2) Similar electropositivity

(3) Atoms of same size

(4) Electronegativity difference is less than 1.9

Body HSErIPO DY VAT OGN IEYEEIB Ko daHiDn

(1) o Abgerd 80 Bar 1.9 508 %y

(2) &8 ¢% bgere) 58 DA axwoddo

(3) 28 HOSrosn EOAD HhravHen

(4) S Abgerdge Bae 1.9 0B S&d

SPACE FOR ROUGH WORK / & %08 Béranousads o0
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107

108

109

110

111

Which of the following molecules does not obey octet rule ?

1808 ¢36° oHE JoNErd) FEoud LY IB?
(1) NH, 2) CH, (3) H,0 (4) BeCl,

Lateral overlap of orbitals results in the formation of

(1) o-bond (2) Hydrogen bond (3) m-bond (4) Ionic bond
e h]d Hhat.!'ef @80 DO Dﬁgﬁ 20650
(1) o —wogo (2) &= w00  (3) m—wogo (4) ©@ardE 200

The number of lone pair electrons present in the valence shell of central atom of water
molecule is

D8 weHS® Bol Erm erdrg K680 dd) 2000 JUFIN Bobe Jowg
(1) 2 (2) 4 3) 3 4) 1

In which one of the following, bond angle is minimum ?

8o &36° 204 w0 Dewd SKDH Lod
(1) BeCl, (2) BF, (3) CH, (4) NH,

Who proposed the ionic bond ?
(1) Lewis (2) Mosley (3) Pauling (4) Kossel

ATEAE OO (DAVHOUN TH
(1) erowrd (2) P (3) >Ooh (4) &S5

The process of heating an ore in the absence of air is
(1) Roasting (2) Smelting (3) Calcination (4) Corrosion

md BHoa HYHD & DD HBaH
(1) =6%0 (2) Exso%o (3) #Ry8de0 (4) &% govo

SPACE FOR ROUGH WORK / D& {08 Séronowsedd oo
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112 Cinnabar is the ore of
) @b & gréod)
(1) Ag (2) Cu (3) Zn (4) Hg

113 In which of the following methods, the molten metal is stirred with green wood logs ?
(1) Distillation (2) Poling (3) Liquation (4) Electrolysis
800 D BIBS® (55 S'drod H) § 608 wrmr SenHeed?

(1) Rogesssm (2) ok (3) Koo Vando (4) dDgd w0

114 C-C bond in ethylene is formed by the overlapping of
(1) sp?—s orbitals (2) sp-sp orbitals  (3) sp?-sp? orbitals (4) sp>-sp orbitals

addS doth C-C 20650 H8 0880 Hod JE)HD.
(1) sp>-s wdytreh (2) sp-sp wdyergd (3) sp>-sp? wB)ereh (4) Sp’—sp B)ergh

115 The distance between two adjacent layers in graphite
Bodb | Pbo D drdo

(1) 3A ) 4A (3) 3.35A 4) 3.6A
116 General formula of saturated hydrocarbons
D085 W& s8R0 Ferdn PoHer

(1) CnH2n+2 (2) CnHZH (3) CnHEn—Z (4) Can

117 The formula of compound is C,Hg. What is the formula of next compound in the homologous

series ?
a8 S¢Sy 088 C Hg 28 Shverd @d6® Shard 8 F ) FoB8ENN?
(1) CH, (2) C,Hg (3) C;Hg (4) C,4Hg
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118 The IUPAC name of CH; —CH, —CH, —CHO s
(1) Butanol .. (2) Butanal (3) Butane (4) Butene

CH3 HCHE '-CHE - CHO lﬂhﬁa_ [UPAC &=Hdw

(1) awgerdS (2) prgoerd (3) 2rg8S (4) 2rgelS

119 Combustion of hydrocarbons is generally accompanied by the evolution of
(1) Heat (2) Light
(3) Both heat and light (4) Electric current

TE soE)%0h Sirdo Daxwed Db HH/T IDHEDHHD

(1) &0 (2) s°08
(3) 4o DHBav 508 Todrdr (4) MHgd arsro

120 Which of the following is used as a catalyst in Hydrogenation Process ?

W& 2800 (B, (B0d S° ABYISSHVT HDO
i1} Lu (2) Fe (3) MnO, (4) Ni
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